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FINANCIAL ACCOUNTING - I
~ Full Marks — 80
Time — Three hours
The .ﬁgures in the margin indicate full marks

for the questions.

Answer either in English or in Assamese.
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L. (a) Fill in the blanks © Ix5=5
AT 5% o@el 4 2 '

(1) Under Sectional balancing system, a trial
balance can be prepared only out of

ledger.
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(i) Each instalment including doWn payment
is treated as hire charges by the
sl s R ofem Ffee
—— @ oYl W Fpiee &)

(iii) The minimum rent or the actual royalty
shall have to be paid by the lessee,
whichever is :

PTON TIEl A Fe weeW G
IR ~BlaRrelE Ry e

- e |

-(iv) According to principle,
closing stock to be valued at cost price
or market price whichever is lower.

qfes opifR AR s T

R @1 @ @ TmE U RGE o,
Ot 491 29|

(v) The buyers position till the payment of
last instalment is the position of

oI o sy qositas, aow e
BN —— |

3/4 (Sem-1) FACT (2)

(b) State whether the following statements are

true or false : I1x5=5

oot fral [RgfesE 7197 @ werey forat ¢

(1) Hire purchase accounting is based on the
principle of substance over legal form.

eiel T fapiel aem [Qfase Fasscs
AT Ay Fifed erme |

(i) As per dual aspect principle, Asset =
Liabilities — Capital.
961 freim it oigaAfe, wvife = omr —
eI | :

(i11) The landlord receives a minimum rent as
royalty periodically.

THITE Prod oiel FewE 25l AN
TR A |

(iv) Accounting principles are generally based
on practicability.
feb17ierael « Iz LIRS IR e
erigs fefe wq)

(v) Shortworking arises even if there is no
minimum rent.

TN ©IG] TrEe %t el Ted 59 ANE |
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2. Answer the following questions briefly : 2x5=10
WEeiRe emwEee 5y Sew B g

(a) Write any two objectives of accounting
standards.

B TR R e 5o S
G

(b) Mention any two defects of sectional
balancing ledger.

e Felere Wfomm= & e 961 o e |

(c) What is meant by Hire Purchase Agreement ?

©Cl T e Ww T gee

(d) Write the meaning of 'recoupment of short-
workings' under Royalty Account.

T Bl wdfiTe wheafficn wiesgers oy
|

(¢) Explain how general ledger is self balancing .

AR AfSTA (AT AL ABETS =W g
41|
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3. Write the answers of the following questions :
5%4=20

wee Al emitaRT Tes fodl
(a) Mention five modifying accounting prin-
ciples.

S|fFaSie fEpieileae Fife <fioh Srmd 4 |
Or / «fzat

State the nature of accounting information.

feplvm oU@ oS T

(b) Give rectification entries under self balancing

system for the following transactions :
2V24215=5

Tore Tl EFWmAEIRT IR T8 TR Amfes
we-uaEld ofaf® wal e

(i) Purchase day book undercast by
' Rs. 1,000.

wies @7 321w 1,000 5 T fZoie ==
|

(i1) Goods returned by Rina Rs.700 wrongly
posted to Bina account.

FoE #1700 B AW fHFae SEes e
fZpIee ZMIes 91 T4 |
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(c)

Or / «izal

State the purpose of using Control Accounts

under sectional balancing system.

NAE AeeTe oo Wagd Zoiel amas s==
Sy T | |

Nibir purchased a truck on hire purchase
system. As per terms he is required to pay
Rs. 70,000 down. Rs. 53,000 at the end of
first year, Rs. 49,000 at the end of second
year and Rs. 55,000 at the end of third year.
Interest is charged @ 10% p.a.

Calculate the cash price and the interest paid

with each instalment.

JRE Ov T Ymee @AW G R
FEVRE SR (96 AERR[E ([ ANICS F5
70,000 Gt <ifReay = SR gewm qeEs
erEs 53,000 51, Bow awm e 49,000
Tl = TOIR RS (<% 55,000 T | ATy
=far il we 2@ q=R 10% «F == =

R Slel 34|

3/4 (Sem-1) FACT (6)

Or / Fizat

Write a note on the accounting treatment of
Interest Suspense Account in the books of the
buyer.

2N I21© v Zlae ZoieE, Epivead smfes
SIS Bl (O foTai |

(d) What is the effect of strike and lockout on

payment of Royalty ?

4B wiE SEEEE Tead ARIME eoFe &
oo (AEE 2

Or / <iZar

Mr. Baruah has given a licence to Rani Ltd.
for manufacture of a machine tool for which
he is the owner of a patent. Under the
agreement, Rani Ltd. will pay a royalty @
Rs. 50 per unit on all the tools sold during
a year, subject to a minimum rent of Rs.
6,00,000. The agreement also provides that
if there is a shortworking during.the first two
years, it can be recouped during the next
three years only. The actual sales of the tool
are as follows :
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1. <<=z 21). Frfibes b1 7w S St
T Wl faem, T (BT e cod |
& wpif, ft Fficee =R 15 Sgf G
(s, 2AfSCEl oMb AW 50 Tt wewd
FAMAT *JeTox ©Iet 6,00,000 5= =iy ==a |
P We wAw wwwe IfF wheaf =,
(SR O 2RO ol e *#foome wfg
ﬁrﬁmﬁqﬁwﬁﬁtﬁ“ﬁﬂ*m%a

Year Sales (in units)
I & (ollBa fEpiere)

1 - 5,000

2 8,000

3 10,000

4 15,000

5 14,000

6 18,000

Prepare the statement showing the ca]cu]atlon
of Royalty and Shortworking.

TEET W1 2Bl oo T8 a0 Fgfe ewo
41 |
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4. Whatis ASB ? Mentlon the functions of the ASB.

3+7=10
ASB wiw 57 ASBI IR Srd 4|
Or / =izal

Define Accounting Standard. Explain the
procedure of setting Accounting Standards in

- India. 3+7=10

EoleiaeE SFPRE I 391 | ORTS iR TR
AfeP TR CcRae 49l Amie Ael 1 |

From the folloWing particulars for the year 2015,
prepare the required adjustment accounts as they
would appear in the general ledger as on 31.12.15
under self balancing system. 10

2015 v FsfRe w2 e wag Fekme a3
SRS AR ALAE BpiehTz AlMEe AfomTe
31.12.15 siffee 2ws A0 .

1.1.2015 Debtors ledger balance Rs. 1,37,000

 mmeE Afer Tge
1.1.2015 Creditors ledger balance Rs. 1,64,000

silenmiad AfsTm Tge
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Wjﬁi
Transactions during the year : Rs. (B=) Rs. (5<)
TS (RN (TR 3 Acceptance received 25,500
Credi h from customers
redit purchase
: ArgFE H[ cofiEl Fighe
AF W 62,500
Bills payable accepted 36,000
Credit sales 69,500 e ot
GIES I ETa
Cash sales 50,000
Cash received from customers 77.000 EO AR E
ARTT 2F oA & ' Sundry charges | 500
. debited to customers
Cash paid to creditors 92.000 ‘ s (SRT T4 ARy 97
lleamias [y a1 o= :
Allowances from creditors - 1,600
Return ‘from customers 2,000 HAleMTT # 9 SIiG!
allic Bills payable dishonoured ' 9,000
Return outward 2.000 | gorn ool sprfas
T e Discount allowed to debtors 1,300
Discount received ' 1,800
oiel G| Cash purchuses 30,900
5 @
B _ i .
ad debts written off 7,200 Bills receivable dishonoured 2,100
SHGIRTT e SEEioF Alof- o1 eprfas
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Rs. (=)
Bad debts written off, now recovered 900
SRS N SEARAE A @i

Transfer from Bought Ledger 1,500
to Sales Ledger

Bills receivable discounted 3,000
o) &1 G

Or / «izal

From the following figures, prepare a Total
Debtors Account and Total Creditors Account for
the period ended 31.3.2016 : 5+5=10

wore Ml o @[l 31 W SifEes S@eE NS A
5 (I 2519 SIss 7S oftemivig f25iel oEe 41 8

Rs. (G=°1)
Debtors on 1.10.15 1,927
1.10.15 eifv<ds @=mE
~ Creditors on 1.10.15 1,215
1.10.15 ©ifvg® siemmig
Cash paid to creditors 7,613

ENEE JA5iv 49 AfFeeny
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Cash received from debtors

D11 e S i P i e

Purchases

@Y

Discount received
oie 5!

Bad debts written off

SEREATT W SR

Sales return

e frae

Purchases return

FT fFFae

Interest charged to debtors
MAVIRT esFS AW SIS
Debtors cheque dishonoured

AW 6F SIS

Discount allowed

etes A6
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Rs. (B=)
12,993

8,849

286

56

93

182

76

356

[Turn over




Rs. (Ga)

Bills payable accepted 891
(including renewals)

Ao Rl Fipe (919 A1)

Bills payable withdrawn 200
upon renewal

TR fofes 2w e sremme

Interest on bills 3
payable renewed

e T 2dorn [eW @slae A

Sales 13,308
el

Raju purchased seven trucks on hire purchase on
Ist July, 2014. The cash purchase price of each
truck was Rs. 50,000. He was to pay 20% of the
cash purchase price at the time of delivery and
the balance in five half yearly instalments starting
from 31st December, 2014 with interest at
5% p.a.

On Raju's failure to pay the instalment due on
30th June, 2015, it was agreed that Raju would
return 3 trucks to the vendor and remaining four
trucks would be retained by him. The returning
price of 3 trucks was Rs. 40,500. Raju charged
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depreciation @ 20% p.a. Vendor after spending
Rs. 1000 on repairs sold away all three trucks
for Rs. 40,000.

Show Truck Account and Vendor Account in the
books of Raju. 5+5=10

Feca #ifesl geiE 2014 SifRas Ao G ool &1
afow @y Fface | dfodm G 99w @1 =1 50,000
5l | eming e (o€ 9w e 20% R wifee
= AT ol 31 BreEs 2014 wiws [ a5 5%
v ies vt =@ w2 s Mg sife |

30 g1 2015 sifs<s «ifsediy Fa=sm %, atge
“IfReay sl @RS, G siffd G fFem @sre
o, TR fofwm Rrrsies Sewiz ata wife 29
fofem Tiee TewiE 3o 40,500 5| S
a5(d 20% =S ST 4% 33 | [Rraeiz 1,000 S
crRNfss =s <5, BRewa G 40,000 5 @b
facat

g J2e GIeA f2hiel i Rearer fZoe gryear |
Or / 71iza1

Ajay purchased a car from Amar under instalment
payment system on st January 2013. It was
agreed that Rs.15,000 was to be paid on signing
the agreement and a sum of Rs. 15,000 was to
be paid annually for 3 years. The cash price of
the car was Rs. 52,300 and the rate of interest
was 10%. Depreciation is charged @ 20% p.a.
on the straight line method.
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Prepare Car Account and Vendor Account in the
books of the purchaser. 5+5=10

ey S 291 ~ifEe wigEisT 2013 sifkee g
“fFrNiy srafee @i 18] e | pfe wiwe e
TEe 15,000 T wiF @fe T=em 15,000 5 o
qAcE AAfReey BfEEE (@oig wife 27 | M1EE F9iv
WS 52,300 B w29 10% 1 <2 20% =S
T @RS dmioe SEy 4y 9 =W |

(FelF IR MG Boww i [rarer Bt awe
2 |

Kamrup Ltd. hold a lease of coal mine for a
period of ten years, commencing from Ist
January, 2009. According to the lease, the
company is to pay 75 paise as royalty per ton
with a minimum rent of Rs. 15,000 per year.
Shortworkings can, however, be recovered out of
the royalty in excess of the minimum rent of
the next two years only. For the year of a strike,
the minimum rent is reduced to 60%.

2009 b= ~ifzetl SRRSIE 29 7 299 FECe TR
ffiGre smen g AwfEe #6 =it | «% SeEfe,
@i 2fS 5 75 #i2% TGP FOlCS e
ol 15,000 T SiReny Ffg afim) «eafde
ATTST B! TZET(Z PTOH ©IUIS(S (A2 (Zal Feeq
2/ Hosad SR AT | 4596 (2R T_EHIS P
©el 60% T = |
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The output in tons for the 6 years is as under :

g 6 T5Ew R ARNITS Besive wifee FRfRe
€99 3

2009 - 10,000, 2010 - 12,000, 2011 — 2§,OOO,
2012 — 20,000, 2013 - 50,000, 2014 —15,000.
strike (43f95)
Prepare Shortworking Account and Landlord
Account in the books of Kamrup Ltd. 5+5=10

el oifeee a8Te Woeafd: fZoiel oI wEE
f2piel oEe 4l |

Or / =izat

Business Text is a small publishing firm. It has
commissioned Dr. Roy to write a book. Roy's
contract states that his royalties will be calculated
as follows :

[IART AT TF G FFE TSNS (D11 @3

qE DI T q@E 94 faee R

ffere o | T8 e o9 e SpEifE (oes

i ool FIPPTHRE e O T4 4Td =Zpiel 4

%9 3

(i) He will receive a basic payment of Rs. 40
for every book sold.

o el BER Esl el (08w
40 5FtF AfReg 11 ==
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(ii) The minimum payment during each of the first

two years will be Rs. 40,000. The publisher

is entitled to recover any short- working from

(v) The book was published during 2012. The

number of copies sold in each of the first

4 years were as follows :

the royalties of the 3rd and 4th years. The 2012 ve FolPm e @€ cafEe | W

maximum amount which can be recovered T o4 490 29y 5IfF 9ame el [T

during any given year is limited to 25% of [

that year’s royalties. 2012 - 8,00

2T GAEE AT THA (S€F [erwn 40,000 A= - N

Tt SRy w9 =1 Bl wie vy =& | 2014 - 1,400

A YHE IR Reien wbeafdc ai 2015 - 1,800.

T [l FooEe IR #ifFa | i aw=e Prepare Shortworking Account and

Dr. Roy's Account in the books of Business
Text, 5+5=10

FRANES “dre 2o =oeai fZoe o
Tz 9 fopiel owe 91|

AP (DT Tanld = S =i gt
(12 9= WgTE 25%3 fowge Mre 4fFq |

(iii) There are no minimum royalties from year

3 onwards.
 PEI A oA (HIGT gRTes Hem Al 2@ |
(iv) All royalties are paid on 31st December. the
last day of accounting year.

f2Bierrac qgaq iw faerl siefie 31 forose wifdwrs
Aol wged ooy sfm e
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